Greek 101 * = new for this test
Review for Final Exam
Chapter 7-10

VERBS: Active Middle
Singular Plural Singular Plural

*Future Tense:

Pres stem + 0+ w -opev -opot -opeOa
-€1g -eTe -g(oa)t -e00¢
-etL -ovoy(Vv) -eTa -ovtal

Uncontracted verbs

BaoWevow Paocievoopev déEopat deloueba
Baolevoelg PaciAevoete Oékel 0éEeoOe
Baowlevoel Pacilevoovol(v)  défetal deLovtal

Contract verbs: No contractions in the future!
Present stem + Lengthen the stem vowel (¢/a) to 11+ 0 + personal endings

PN +o+ w AN + 0 + opev PUANow dLAnoopev
PN+ o+ e G + o + ete dunoelc  puAnoete
b +o+ el dLAN + 0 + ovo(v) dLAnoeL drAnoovo(v)

Verbs with liquid and nasal stems: Look like e-contract verbs

Since adding a o to the stem would be difficult, Greek adds an ¢ before the o.
Then the intervocalic o drops out and a contract verb results.

HeV + € + (0) + personal endings

Hev+e+(0)+w pev + ¢ + (0) + opev Hevw HEVOULEV
mev+e+(0)+eg pev+e+(0)+ete HEVELS pevelte
pev+e+(0)+eL pev + € + (o) + ovoy(v) pevet pHevovoy(v)
Irregular verbs: future of égxopat elpt tpev
el te
eloy(v) taoy(v)
Imperatives: No future imperatives
Infinitives: stem + 0 + ewv/ecBat E.g., “tobe about to “
omev(d) + 0 + ewv omevoewy  to be about to hurry
Oex + 0 +eoBal 0e&egBatl  to be about to receive

tévat (to be about) to go



PARTICIPLES

Participle is a verbal adjective.

It is formed by combining a verb stem and an adjective ending.

Like a verb, it may have a direct object or prepositional phrase.

Like an adjective, it modifies a noun. Therefore, the participle must agree with
the noun it modifies in gender, number, and case.

Present Participle Active

Formation: Present stem + -wv -ovoa —ov

Endings: 1¢t and 3 declension (like ac maoa tav)

Nom. B&AAwv BaAAovoa BaAAov, Gen. BaAAovtog BaAAovong BdAAovTtog
Nom. prtAwv dprAovoa prAovy, Gen. prtAovvtoc prAovong GprAlovvrtog

Nom. tipav tipooa tipev, Gen. TIHOVTOS THLOONG TILWVTOS

Meaning: throwing, loving, honoring

Present Participle Middle

Formation: Present stem + -Opevog -opévn -Opevov

Endings: 1*t and 27 declension (like kKaAOg kaAT) KAAGV)

Nom. éoyalopevog éoyalopévn epyalopevov, Gen. égyalopuévou
éoyalopévng éoyalopévov

Nom. ¢poBovuevoc popovuévn poPovuevov, Gen. poBovuévov Gofovpévng
dopovuévov

Nom. Oewpevog Oewpévn Bewpevov, Gen. Bewpévov Bewpévng Bewuévov
Meaning: working, fearing, watching

Examples:
al yvvaikeg, 1aic étaipalc émouévay, eig v kervnv aducvovvtat. “The

women, following their friends, arrive at the fountain.”

talg Etaipalg émopévat is the entire participial phrase; companions are dative
because émopat takes the dative. émopévat is nominative, describing ai
yuvaikeg, the subject of the sentence.

BovAouevorovyalewy, kabilovtat v ) otoq kal Oewvtat tovg avBpwmovg

omevdovtag kai Bowvtag kat OoguPov toovvtag. “Wishing to rest, they sit in
the stoa and watch the people hurrying and shouting and making a din.”

There are four participial phrases in this sentences, two that are just the participle
and two that have additional ideas connected to them (wishing to rest and
making a din). The first participle, BovAouevoy, is nominative and describes the
implied subject of the sentence while the last three are accusative and describe
ToU¢ dvOpwmouvg, the direct object.




NOUNS:

a-declension (first): feminine 1) ko1 vn), 1) VOElax (When the stem of a noun or an
adjective ends with ¢, i, o, the ending 1 --> a), 1] péAtTax

Masculine: 6 deomdtng

o—declension (second): masculine and neuter 0 ayQdg, T0 dévdgov

Exceptions: 1) 006g (4f), 1] vijoog (6a)

Consonant declension (third): masculine (e.g. 6 dv1)0 TOV &dvdEVGS), feminine
(e.g., 1 VOE 11¢ vukTOGc) and neuter (e.g. TO Voo TOLV OVOUATOG)

When the stem of a 3¢ declension noun ends with a dental (0 6 1) or nasal (i v),
the dental or nasal consonant drops out. E.g. the dative plural of 6 naic is toig
nay(d)ot.

*Third declension, vowel stems: be able to recognize 6 BaciAevc Tov PactAéwe,
1 MOALS TNG MOAEWG, TO A0TL TOL dotews. These words have an —wg for their
genitive singular because Greek does not like to have two short vowels in a row.
In the nominative plural and sometimes in the accusative plural, their endings
contract.

Case
Nominative: Subject, complement: 1) Mvpivn ¢oti godr). “Myrrhine is wise.”
Genitive:

Possessive: 10 Ovopa avtng ¢oti1) MéArtta. “Her name is Melissa.”
*Partitive: ToAAol Twv maxpdévTwv “many of those present”

Motion from (with prepositions &, €k): 1) yuvn ékPaivel ék Tov oikov. “The
woman goes out of the house”

*With certain prepositions (i through, petd with, V1tég on behalf of)
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0 ®iAntTtog poPovpevog LTEE TOL veaviov pooteéxet. “Philip, fearing for the

young man, runs toward him.”

*With certain verbs: e.g., &rxovw (people), €0dw, AapPdavouat

axovopev 1o ayyéAov. “We hear the messenger.”

*Time within which: (no preposition)

0 KOkAwy €00tet €€ étatgovg wag nuéoac. “The Cyclops eats six companions in
one day (within one day).”

Dative:

Reference: refers to people (“to/for”), no preposition
Indirect Object: 6 Odvooelg otvov 1w KvkAwmt magéxet. “Odysseus
offers wine to the Cyclops.”
Possessor: ta tooPata éott 1w KokAwmt. “There are sheep [belonging] to
the Cyclops.” “The Cyclops has sheep.”



Instrumental: refers to things (“by/with”), no preposition
Exception: petd + genitive: e.g., peta tov £talpwv “with the companions”
Means: 0 veaviag tov AVkov AiBoig BaAAeL. “The young man pelts the
wolf with rocks.”
Respect: 0 veaviag, 6 PiAmmog ovouatt, tov Avkov Atboig BaAAet. The
young man, Philip by name [in respect to his name], pelts the wolf with
rocks.”
Location: “in/on/at”
Spatial: (with prepositions ¢v, émti, tp0og, VTO)
0 deomdtg kaOevdel VO 1@ dévdpw. “The master is sleeping under the
tree.”
*Temporal: no preposition
11 Votepaia 0 KokAw tov AlBov é€alpet €k NG TOL AVTEOL loddOVL.
“The next day the Cyclops lifts the rock from the entrance of the cave.”
With special verbs: no preposition. fon0éw, émopat, 1yéopat, meibouat,
TIEOOXWEEW, CLAAAUPAVW
at képau 1) kevn meooxweovoty. “The girls are approaching the fountain.”

Accusative:
Direct object: 1) koon v VOplav Gpépetl. “The girl is carrying the water jar.”
Motion forward: spatial (with preposition ava, eig, émi, katd, petd, mEdg, VTO):

BadiCovot mEog Tov dypdv. “They are walking to the field.”
*Motion forward: temporal (no preposition):
O avToLEYOG maoayv TV Nuépav movel. “The farmer works all day.”

Vocative:
Direct address, usually in questions or command
€A0¢ devpo, w PiAitrte. “Come here, Philip.”

ADJECTIVES: first and second declension (e.g., kaAOG KaAT) kKAAOV,
0&dL0G Qadla Q&dLOV)

third declension (e.g. ccdpowv cwdov, genitive o PEovog)

*First and third declension: tag maoa mav and present active participles

Agreement: Adjectives must agree with their nouns in gender, number, and
case.

PRONOUNS: (Cf. 5b, 7a)
Personal (I, we, you, he, she it): eyw, 1ueic; oV, ueig; avtdg avt avTO



Reflexive (refers to the subject: myself, yourself, himself, herself): ¢u-avtov,
MUV aVTWV; 0E-AVTOV, VRV AVTQV; £-QUTOV £-QUTIG E-AVTOV

Uses of avtog

1. Personal pronoun (in genitive, dative, or accusative):

6 AVkog mtapeotv. 0 Pidtmmog avtov opa. “The wolf is present. Philip sees
him.”

2. Intensive (usually in the nominative, always predicate position):

0 DiAmtrtog avtog TNV pdxawav AappPavel. “Philip himself takes the knife.”

3. “The Same” (always in the attributive position, i.e., immediately after the
article):

0 OiAmmtog TNV paxaav Aaupavel kat tov avtov Avkov tomtet. “Philip takes
the knife and strikes the same wolf.”

INTERROGATIVES: ot (where to?), tov (where?), mé0ev (from where?), moiog
(what kind of?), tawg (how?), ti (what? why?) (Ch 7b)

Sing. Plural
Nom. Ttig who? Tveg
Gen. tivoc whose/of whom Tivwv
Dat. tivit to whom? TloL
Acc. tiva whom? Tivag

LISTENING COMPREHENSION: a story about Dikaiopolis” and his family’s trip
to Athens

CULTURE: history of Athens; city of Athens, esp. the Acropolis; and festivals,
esp. the City Dionysia



